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Part One Vocabulary (i8C)

. do ik
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HiE SIS T ABE, BTz, UT,.RITESRIFEANA.
0. Lk /M9 %

SGE/ X RARFALESH— RS BENXBETES S AK
B8 S I, AT R A A B B TR & SCRAE A, AT R B 45 3
WA R, VIS R RSB I ER . HSE THHREIE.

1. Many new will be opened up in the future for those

with a university education.

A) opportunities B) necessities
C) realities D) probabilities
2. If these shoes are too big, ask the clerk to bring you a
smaller
A) suit I B) set
C) one D) pair
3. My camera can be ______ to take pictures in cloudy or

sunny conditions.

A) treated B) adjusted
C) adopted D) remedied
4. Children who are over-protected by their parents may
become
A) hurt B) damaged
C) spoiled D) harmed
5. We are interested in the weather because it ______ us so

directly—what we wear, what we do, and even how we

feel.
A) benefits B) affects
C) guides D) effects



6. There were some _____ flowers on the table.
A) artificial B) unnatural
C) false D) unreal
7. Many people complain of the rapid _____ of modern life.
A) rate ) B) speed '
C) pace D) growth
8. He has impressed his employers considerably and _____ he

is soon to be promoted.

A) nevertheless B) accordingly
C) yet b)’/eventually
9. His stomach began to ______ because of the bad food he had
eaten. '
A) pain " B) harm
C) be hurt D) ache
10. This ticket ____ one person to the fashion show.
A) permits B) enters
C) delivers D) ‘admits

(W] B PEHERR.“ZARSBUTYAHRLERE
i) ?, B E MR A) opportunities , opportunity ¥ 417, &Y
“PL&”. necessity fER B A B, RR“LER”, W FEXREE
8, reality F1E A3 1A, BN “LH, 37 probability FIYE T %
B TRRENS K ENER FUBHALEE,

FZ/MEERR D) pair, (B MR EWET of shoes, suit &Y
“—F CKIR)”;sset i “E”, M a set of furniture (—FERH),a
set of tools (—FE T HR),{HA T LLi) a set of shoes;one HEEE 7
“—AN"H9 IR IA , T AT SO L iR shoes, UR XS, .

E=/MNBERRB) adjusted, B H“WH HIL)”. treat B
“XFE, AT, B UM ERIE ;adopt BRHKE, R, AL EHR,
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remedy B A“YIE”,F A),

55 /NBE R C)spoiled, B H“ER,B/IE”. A B D=
NETHFE“Z 4, E”Z R, A) hurt X FE S EK
#7;B) damage WETHIE . P RAH“BIL"HZ“HWE”;D) harm
B ARYEEL”.

BH/PMAERR B) affects, B R ”,feshidm H . A) benefits
F1C) guides WU KRS BB ;D) effects fEFhiAIR, My “T=4, &
B ARER T A .

BA/MIERE A) artificial, EH“HE L HFERIE”. NIUEA
BEXE N EHBEBROEL,(BEF ME. artificial A1
#7,“ AL#”; unnatural SRIAFXRFYR“FHRH”, {0 unnatural
laugh/silence/color %% ;false i H YW A XML B2, . false
diamonds/coins junreal R “ B R 789 & X, 1 unreal world,

FEEPBEERC pace, EH“UZARBRREZETELX
R”, rate WH“HH”, “HE”;speed KR FWHITHIERE, M : the
speed of the bus;growth BRH“E @, MK”, L =K B UARFF. pace
—HAEBR PR, SH”, 5B LR E, R, k.

B//PMBERE B) accordingly, B H“HIL”, HBIREELE
A, ETXBRBAANEE A B8R . 0AREMNERBE,H
BEAAKBERAT. OS5OEBBENT. A488, % FH. D)
eventually i 7%, (HE H P A soon —id, “HHEH, EaH R
GCpd:: N

FHPMBERR D) ache, BHBHTHETERNEY, bFH
BEEE”. B)5 OB, WTHEB . pain HH5EI% , 503 i Bk
H— SARNE L BB SRR . ache #8— M AR AR ERE
REAfE, B R i, #ak D).

$F+H/PMEERRE D) admits, EH“XKBAF—MAFARN R
BY 4", ZBHBE COWHBARM, THE. A) permits ) HER
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permit sb. to do sth. , Tt &b to the fashion show ] to BAriA, Tk
FAERFT S, B ADFRX, admit A8 CF BT S EXR, 6L
D) Q )

Xif /X Bl # %54 4%

1. The girl’s father o buy her a car if she passed her
examination. q
A) admitted B) accepted

\?)/agreed D) approved

2. They are twins and look very

A,) alike B) same
\Cyikely D) identical

3. When he was a student, his father gave him a monthly

towards his expenses.

A) salary B) permission
G) allowance D) wage
4. Sheis _ __ a very old lady but in fact she is only fifty.
A) apparently ‘ B) evidently
C) obviously D) actually
5. His family bad a marvellous holiday; ‘only the last three
days were slightly by the weather.
A) hurt B) ruined
C) spoiled D) damaged
6. He ate what he could, and gave the __ of the food to
the birds.
A) uneaten B) rest
C) waste D) remain
7. I1shall have to ____ to you, otherwise they will hear our

5



future plan.

A) say B}) show
C) whisper D) whistle
8. Finding it difficult to to the climate in the city, the
two sisters decided to move to the South.
A) adopt B) adapt
C) fit D) suit
9. American women were the right to vote until 1920s

after many years of hard struggle.

A) ignored B) neglected
C) refused D) denied
10. The boy’s test results are not very . He does well

one week and badly the next.

A) invariable B) consequent
C) continuous D) consistent
11. Many people have their houses against robbery.
A) sured B) assured
C) ensured D) insured

12. By means of computers, car drivers could be given

routes when there are traffic jams.

A) alternative B) compulsory
C) feasible D) changeable
13. It could be to journey to distant places.
A) exhausting B) exhaustible
C) exhausted D) exhaustive
14. The newly-discovered anti-body had its ______ only on

ordinary flu.
A) efficiency B) effect



C) influence D) impression

15. Do let me know if any difficulties

A) arise B) come
C) rise D) happen
16. In the central region the dry season is long and severe, and
the ____  annual rainfall is only about 60 cm.
A) ordinary B) general
C) average D) greafest
17. He has adopted three orphans ___ his own five children -
so that, all together, he has eight children to feed.
A) besides B) except
C) except for >D) beside

18. He his old car for a new model as soon as he had

won the money.

A) exchanged B) converted
6) replaced D) interchanged
19. The United Nations was ______forty years ago and held a
~ special conference in November, 1985 to celebrate.
A) established B) set '
C) completed D) settled
20. The _____ _is seriously threatened by pollution.
A) surroundings .B)environment
C) background D) situation

21. Fresh vegetables are not these days, but they will

be on the market soon.

A) essential B) sufficient
C) expensive D) available
22. The judge found him not guilty, and him.



A) dismissod B) punished
C) excused \D) discharged
23. The Prime Minister will give details of the plan at the press

today.
A) committee B) report
C) conference D) discussion

24. Age is not so important. It’s brains and know-how that

A) count B) impress
C) judge . D) survive
25. This pair of gloves is too small. Please get me some larger

A) one .I})fbnes
C) pair D) gloves
26.If a man himself and his family of food in order to

buy and run a car, we would consider him mad.

A) deprived B) robbed
C) rejected D) denied
27. The music was so that it was hard for me to hear it.
A) vague B) faint
C) tedious D) peculiar

28. The police offered a2 $ 1,500 to anyone who would
give useful information about the robbery

A) price B) reward
C)prize D) award

29. Nowadays pop music singers to most of our youths.
A) attract B) appreciate

C) appeal D) approve



30. They cheered __ when the favourite won the race.
A) loudly B) bravely
C) freely D) keenly
31. There was a growth in the national economy

because of the opening policy.
A) considerate

B) considering
C) considerable

D) considered
32. That’s a nice coat, and the color
A) fits

C) suits

you well.
B) matches

D) sketches
33. The old man wished his son to take his duty

A) seriously B) definitely

D) delicately
34. The president’s report on the world bank loan was so
that nothing had been omitted.
A) clear B) standable
C) well-written D) comprehensive

35. He looked rather untidy as there were two buttons
from his coat.

C) severely

A) losing

C) off D) missing
36. The basketball game will be

B) away

until next Saturday
because of the rain.

"A) postponed

B) extended
C) prolonged

D) lengthened
37. Bill did not hear the telephone because he was completely
in his reading.

A) eager B) absorbed



C) keen D) anxious
38. We need an umbrella on the beach to give us some

at midday.
A) shadow ‘B) shade
C) shed D) dark

39. There is always for improvement however much you

have already done.

A)'room B) place
C) area D) occasion
40. A number of people have had a very direct ______ on the
writing of this book.
A) result B) affect
C) influence _ D) conference

41. The road was blocked for two hours today after an accident

several vehicles.

A) connecting B) containing
C) involving D) including
42. You’d better get from the hostess to smoke in the
room.
A) freedom B) permission
C) right D) allowance

43. A peculiarly pointed chin is his most memorable facial

.

A) mark B) trace
C) feature D) appearance
44. However, at times this balance in nature is s

resulting in a number of possibly unforeseen effects.
A) troubled B) confused
10



C) disturbed D) puzzled
45. The patient’s health failed to such an extent that he was

putinto ____ care.
A) intensive B) rigid
C) tense D) tight
46. These goods are _______ for export, though a few of them
may be sold on the home market.
A) completely B)-essentially
C) necessarily D) remarkably
47. The curtains have ______because of the strong sunlight.
A) fainted B) faded
C) weakened . D) dulled
48. Young as he is, the man has already wona __ fame.
A) common B) ordinary
C)general D) universal
49. He is very __ of his conduct and promises never to

behave like that again.
A) sorry B) miserable
C) ashamed D) guilty

50. A man who wants to start a business must have some

A) currency B) income
C) wealth D) capital
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